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2N AT
BH: NAT AR (BY/MTEE - £T)
o9l ARD 2TAM Y L RXI2E (crol: m2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
202 04b| 11,520 12,140 A620
o1 =LHolb 11,520 12,140 2620
OARR +EAIL, BES BSAL B2 &
22| 10,200
oF Al 20,0003 100 A *63) 1,200
o A 50,0002 *307H A= *63] 9,000
OATRE =EAE, H=EE 2SAE =23
NS 110,000& *1H *123] 1,320
206 THZHI 43,480 41,362 2,128
01 24| 43,480 41,352 2,128
OATD +TAIM ASOHE 7Q(RBAS
oF) 8,000 «40) A+ 122 3,840
OHIAHHH| HIZS2X =8 UdE AS2AE
FU(REAEY) 8,000& *160kg 1,280
OATRE =T A8 2Z2ZAIE =Y 2L
1,500 404 2 %63 360
OZE H4 0l 7Y
11,000,0002 %24 22,000
OZE Had Haxel 45 7Y
2,000,000& *33| 6,000
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